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s 237,400
03 Al S THHI 3,600 0 3,600
OUDtAE~=E225 6 HEBEZ 3,600
s 3,600
SHEZSHZE ALY 700,000 1,563,096 A 863,096
JIEt S0E E2AY 100,000 663,096 563,096
401 AIEHI L 2CHEI 100,000 663,096 A 563,096
01 A& Bl 99,370 660,000 A 560,630
Os0HETZ ga210s6(Zd A 99,370
03 A& S THHI 630 3,096 A 2,466
OsHEEZ=Z gZ210sd(2d o 630
ME-SHat &2 ST 600,000 0 600,000
401 Al HI YL = THYI 600,000 0 600,000
01 A& HI 596,220 0 596,220
OutE~ot a2t sHEEZ XY 596,220
03 AIE 2 THHI 3,780 0 3,780
OLE-~ota 2t SHEZZ &2 3,780
stz ¥ B 3,277,273 1,466,978 1,810,295
T2 81 22 552,251 303,770 248,481
101 @124 dl 24,161 0 24,161
04 DIt Z2XREE+ 24,161 0 24,161
OEZ2RANES=2A (1Y) 24,161
—Jl=s 66,8003 x 18 240 16,032
—FRexY 66,8002 1«53 3,541
—ZUIZRFE 8,310& «10Al 2t+ 128 998
= 19,573,000& x1/12 1,632
— 40 EE 19,573,000& *10% 1,958
201 Let24d] 4,430 4,110 320
02 =24l 4,430 4,110 320
OFHl |2l 4,430
—M=J12 28 (LK) 1,5408+2004 =103 3,080
—&ZIe 15(ER) 1,350& %1004 =103l 1,350
206 M= Hl 468,660 299,660 169,000
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— 32 & (EW1000kg/ZE) 250,000 *500€ 125,000
— G932 & (EU25kg/ ) 270,000& x500& 135,000
—AG(MES) 170,000& »400& 68,000
—H&s 2aH=0U 1502 %10, 0000H 1,500
—dEd HAHEH 370,000& »100& 37,000
o2& - sHET 2E+E UM
24,0003 x1,500L 36,000
OJIEFRTH (&, UXR, HOUE S) 2,000
O==2FHl AN (HAA, ES&EHF, HXH
g) 3,500
OM&E Jdold (1) 260,000 =414 10,660
OE=2 M4 EgdH 228 M0
5,000,000& = 10CH 50,000
405 TtabH S 55,000 0 55,000
01 AL ESH SHI 55,000 0 55,000
OMEE dstzds 4EI(BZEATE )X
By 55,000
JIEt &2 FHI 1,292,631 1,053,208 239,423
201 et 121,131 141,708 A 20,577
01 At 2telHl 57,800 57,200 600
OsIEEH =8 15,000& *300& X 4,500
OM&ERY ¥ S22+ S|
8,000 x8 x50 3,200
OZ=2FHl ot sa(&. %)
60,0003 +501 x23] 600
OM&EAY & SS=7EH g2 49,500
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SHHEAT(IN) 1,000
- AESE (1) 500
- 2ADI(10H) 400
—HMEXH &1 ¥ 2efAt 1,920
SRS 150,000& =128 1,800
Gl ER S 10,000& =128 120
OHMEXH 2elAb e HZH(SR)
870 x2¢ *4A|2tx100 696
OA&E 8l X bl 13,000
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— MEEY (M&ED] 5, ALD| 4) 5,000
—=24J|8 H=xDI 3,000
—MAEXHED L 22/AF X 2,000
OX+ & dl 44,815
—HESI2 (1) 13,000
—LCHAEAIOM) 13,000
— AE3I2(1) 3,315
— 24D (1H) 15,500
203 R =&Y| 1,500 1,500 0
03 Al =X H R =X Y| 1,500 1,500 0
O=MMIEE L WS HAEAR =X S 1,500
401 Al HI L 2T 1,170,000 910,000 260,000
01 A& HI 1,170,000 910,000 260,000
Oz H#& 20,000
OEAN 82 2X(3HH) 30,000
OAMEIE EHI (B A) 20,000
O=2: & sHEEZ A0IE=+ 90,000
OEz:-HEA HIIS Ml 30,000
OE2(2& ¥ s0&E%) EXE FHd|(LED) 20,000
O & SHEZ T 2FAIE &K 100,000
OJIEt T2 HAILE &b 200,000
Oz T2oEAIE DAH(ZMINEXNE S) 20,000
OS2I A BAH(0IXSE2X)
5,000,000& 20 E X| 100,000
O3 (=2) Ful(6MH) 30,000
Oz XeE 4 (100HA) 60,000
Os2ZE B4(10014A) 30,000
Osd& 44Xl 15,000, 000& *10JH & 150,000
OE=z24H eSSl X (KA 1km) 90,000
O0eoIEsY & 90,000
Ong HUMASY(FUE N, S W, EH2HW) 90,000
XAt THOEA 200,000 0 200,000
401 Al HIL 2T 200,000 0 200,000
01 A& HI 198,560 0 198,560
O=2<H™H Xatw THOHE 198,560
03 AlE 201l 1,440 0 1,440
O=Y ™ Xlatw THot&E 200,000,000& +0.72% 1,440
LY B4 2Y 450,000 0 450,000
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M AL T AL
S SAIHEALS
SR ZASAIEAY (el A
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O SAAHEHEMA(UPIS) KX 22 20,000
THEANEUW ARSI 24 500,000 751,606 A 251,606
401 Al B2 2B 500,000 751,606 A 251,606
01 A& HI 500,000 751,606 A 251,606
OZHEALU MRX W (0I=EX,EII01E
) 500,000
zHEETZ RAES 724,000 764,000 A 40,000
206 M= Hl 4,000 4,000 0
01 =8l 4,000 4,000 0
OAINRE=z 288+8 S5tE ¢ 4,000
401 A& BIZ 201 8I 720,000 760,000 240,000
01 A& HI 720,000 760,000 240,000
OADJHX EE=3 &l 200,000
OANIXN E2410 E= 200,000
OADIHX &2 ML 200,000
OAIDJLXRI EXIE H bl (LED) 20,000
OZZtMAIEE X (EXY) 100,000
AR RAZE200d 110,000 0 110,000
401 AIEBIZ 201 8] 110,000 0 110,000
01 A& HI 110,000 0 110,000
OUAXIZ A2 (MAI~ARLet) HE 110,000
2SS LAY =8 ZHEEZ W4 500,000 500,000 0
401 Al & Bl & 28I 500,000 500,000 0
01 A& HI 496,869 500,000 23,131
OZ&S HEAE =8 2 HEZZ e 496,869
03 Al =2 THHI 3,131 0 3,131
OZ&S HEAE =8 2 HEZZ e
496,869, 000& x0.63% 3,131
gdel ZHEEZ 4 200,000 0 200,000
401 Al&HI & 28I 200,000 0 200,000
01 A& HI 200,000 200,000
gdel ZHEEZ W 200,000
SESL3~stF U224 A EFHY| 111,000 685,500 A 574,500
403 MtXISHHE X201 & 111,000 685,500 A 574,500
02 SO 2SOCHeH 2R 2 E A I 111,000 685,500 A 574,500
O sEEYS-SFUXNZE ANSHZ ALY (SLA
HEE3) 111,000
SEsHAHDIYE =8 ZAHEE=2 W4 100,000 300,000 A 200,000
401 Al I 28I 100,000 300,000 A 200,000
— 10 —
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 Al &bl 100,000 298, 122 A 198,122
OssHAHOE =8 Z2AHEEZ WL 100,000
M s 200212 =4 200,000 920,000 A720,000
401 Al Bl 28I 200,000 20,000 180,000
01 A& HI 200,000 20,000 180,000
O a2 200212 24 (ga =220 2 3
M) 200,000
SAZZ JHd 200,000 28,000 172,000
401 Al I 28I 200,000 28,000 172,000
01 A& HI 200,000 28,000 172,000
SEM s 3234 200,000
SAZBIEMY F=A 13,921 13,921 0
101 14l 2,921 2,921 0
M4 D122 E2EXNEES 2,921 2,921 0
O=ZNHAN & 2HHEHE=S MA 2,921
— QI 60,2403 x4H x 12 2,892
— M EEZ 2,892,000& *1% 29
201 Let24d] 6,000 6,000 0
02 8323l 6,000 6,000 0
O =2UAHAN RRI22 400, 000& 154 & 6,000
402 RI2EX=201 A 5,000 5,000 0
01 2IZEH 2 A B (KM TH &) 5,000 5,000 0
O=2Z102 FHl AEFIUW A728 £
1,000,000 *5H 2~ 5,000
HEOE & ZHEEZ HESA 200,000 0 200,000
401 Al& I 28I 200,000 0 200,000
01 A& Bl 198,570 0 198,570
OHEOHIE & ZHEEZZ N4 198,570
03 A& =2 THHI 1,430 0 1,430
O ECIE & ZHEEZZ HE
198,570,000& *0.72% 1,430
HE RE2 32 FUHE Z&HAY 100,000 0 100,000
401 Al Bl 2B 100,000 0 100,000
01 A& HI 100,000 0 100,000
OHYE RE2 28 FXE &MY 100,000
T FEH(EE2n ¥) PHEZE EEXYZA 100,000 0 100,000
401 A& BIZ 201 8] 100,000 0 100,000
01 A& HI 100,000 0 100,000
O3 AE(sn ¥) 2HEEz 31 H 100,000




PN AL AID

M TAINEAE

Sl RAUEALAY CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o2 2AHE SE 4 - A28 - SEY & S| 350,000 0 350,000
s 350,000
403 UHXSHHSA=0l& 350,000 0 350,000
s 350,000
02 SO 2SOlCHst A2 X 2| & A I 350,000 0 350,000
OMZ SYAEE S8t 44 - 25 -S89 ¥
RLE=) 350,000
s 350,000
sSHEXNS e 20,859,558 26,580,870 A5, 721,312
s 11,297,000
< 237,280
s 9,325,278
=Y BHEHI ALY 9,312,524 14,834,063 25,521,539
s 4,612,000
< 237,280
[ia 4,463,244
sgolgt Ayl (g8t &) 2,183,000 3,167,500 984,500
s 1,747,000
= 218,380
[ia 217,620
401 AIEBIZ 28I 2,183,000 3,167,500 A984,500
s 1,747,000
= 218,380
[ia 217,620
01 A& Hl 2,061,054 3,012,027 A950,973
OYaX7 &IlEr Myl (0r2el) 961,059
z 757,559
< 101,750
e 101,750
O&=X=7 EI/8r |l (0t=2el) 869,995
s 687,495
< 91,630
[ia 90,870
OB/ta X7 218 il (&) 115,000
s 90,000
< 12,500
e 12,500
OSESKFR LIlgr FHl(&=) 115,000
s 90,000
< 12,500
s 12,500
02 Zteltl 113,666 141,000 AN 27,334
OYAX7 &IrEr Ml (0r2el) 52,118
s 52,118
OSs=X=7 Eo18r dul(0t=2el) 41,548
s 41,548
OBtA X7 28k il (&) 10,000




PN AL AID

g sOHEXY HE

el =ZIIBHEHI A Y (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
e 10,000
OSESKF LIt FHl(&=) 10,000
s 10,000
03 A& 2 THHI 8,280 14,473 26,193
OYXIT LIIeh ZHI(0t22)
1,200,677,000& *0.36% 4,323
s 4,323
OSEXF I8 Hul(0r2eal)
1,099,043,000& *0.36% 3,957
s 3,957
I ZMED|IB (I HSEXNZ HHELH) 210,000 201,428 8,572
s 147,000
< 18,900
s 44,100
401 Al BIZ 201 8] 210,000 201,428 8,572
= 147,000
< 18,900
[ia 44,100
01 A& HI 208,498 199,988 8,510
OJIAstd &z &2 d 208,498
2 145,498
< 18,900
s 44,100
03 AIE =2 0HHI 1,502 1,440 62
OJIdstZ &2 &2 208,498,000& *0.72% 1,502
s 1,502
Jl=ME)|e sE(Masd Fdl) 214,000 428,572 A 214,572
as 150,000
i 64,000
401 Al HIZ 201 8] 214,000 428,572 AN 214,572
= 150,000
e 64,000
01 A& HI 212,470 425,508 A 213,038
OUor S 7 M2sd Jd 212,470
s 148,470
s 64,000
03 Al 2 0HHI 1,530 3,064 A 1,534
OUDH SBX? 488 Iy
212,470,000& *0.72% 1,530
s 1,530
JI=ME)|e SF(MSKR NES BEZHE) 1,286,000 571,000 715,000
s 900,000
s 386,000
401 AIEHIZ 28I 1,286,000 571,000 715,000
s 900,000
i 386,000




1

AN AL AT
B SO{ENS Y
©: sIIBEHIALY cf
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,211,387 567,425 643,962
O=ZM ASXF NESE2Z WY 1,211,387
s 825,387
[ia 386,000
02 2eltl 70,000 0 70,000
O=ZM MsSXZ XNE=EZ WY 70,000
s 70,000
03 A& S THHI 4,613 3,575 1,038
O=ZM AMASKF NESE2Z WY
,281,387,000& *0.36% 4,613
s 4,613
IIZMED|IE S$F (SR NES BEZHE) , 143,000 714,000 429,000
s 800,000
s 343,000
403 UtXSHHSA=0l& , 143,000 0 1,143,000
= 800,000
s 343,000
02 S 2S00 CHE A EE 2 & AL H , 143,000 0 1,143,000
OZ4 X7 NESE2Z g 1,143,000
s 800,000
[ia 343,000
S AE B (W ZAXR) 699,000 250,000 449,000
s 560,000
i 139,000
401 A& HIZ 201 8] 699,000 250,000 449,000
= 560,000
i 139,000
01 A& HI 694,623 248,212 446,411
O dEXF =clAME HES 694,623
s 555,623
s 139,000
03 Al 2 THHI 4,377 1,788 2,589
O 4EXT +2lAE H2x
694,623,000& *0.63% 4,377
s 4,377
=2lAE HE= (=2 FEEF) 285,000 238,750 46,250
s 228,000
[ia 57,000
401 AIEHI L 2 0] 285,000 238,750 46,250
s 228,000
[ia 57,000
01 A& Bl 282,962 237,043 45,919
O8+2 FESsHAY 282,962
ras 225,962
s 57,000
03 A& =2 THHI 2,038 1,707 331
— 14 —




2N

PSEL

Et2|

AE T Al D
SHEXS Hg

D sEIEHEHIAY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Of+Z FXEAY 282,962,000& *0.72% 2,038
s 2,038
SXH ONE 2 (XHA) 70,000 70,000 0
401 Al HIZ 2018 70,000 70,000 0
01 A& HI 70,000 70,000 0
Oz&el XM RAEF=AY 70,000
SHEZS A ZHIRES 866,290 1,846,200 A979,910
403 A X EHHS =0l A 866,290 1,846,200 A979,910
02 SO 2SO HEHAHE X 2| &AL H 866,290 1,846,200 A979,910
OJIAstd &z &2 F 46,290
Ogat et =22 AX 400,000
Og4d gti=& R=X =4 100,000
OZ& 8935 =22 &l 70,000
OUor =X == &l 150,000
oot =M =& 50,000
Ouar stsH =4 50,000
IR E AR2AY 2,113,246 3,415,319 A 1,302,073
201 et 100,024 99,419 605
01 At 22l 86,560 68,955 17,605
Ot L= HegF & okl =2 1,500
O0IMEI =& =2 6,000
O8ti+=2 Zdl ZH FXE 550,000 55 30,250
O8Iz |RY=+2FH ZH Xz
550,000& 28 15,400
O=g8 He2E =ZFA =2 16,410
O I ML =2 17,000
02 =224l 13,464 30,464 A 17,000
Ot HMIRS 7,200
Oti=& 2HUY RS 1,464
OstoliCH2 2&==I| | X2l 4,800
401 A& HIZ 201 I 2,013,222 3,315,900 A 1,302,678
01 A& HI 2,006,000 3,307,000 A 1,301,000
O=clAlE HE* 100,000
O=sd&8 g2 Xot==g& ZA L 25,000
O8ti+=2 HE=+ 50,000
OM=X &= MA 50,000
OO0I=Z8Xl HHl (218, M==Xl) 50,000
OZX&Eel &Xl = 20,000
O=2 Al 24(1001S9) 50,000
OXlst= &x13 HE Hel(53) 10,000




PN AL AID
g sOHEXY HE
Sel: SYIIBE ALY

SA - BB (3) - NRAL - B Of & o il
Og=+2 X2 3Hl & 100,000
OMoi?E =2 ZHl 100,000
OMaE =clAlE HE=> 100,000
OXM=Xl 32€3¥&8 E9 50,000
OM=X =25&J| 4X(8M=a) 96,000
Oogd 2812l =2 JH| 30,000
OgZ Hs1el =2 Ftl 40,000
Ogd sAt2el =2 3l 30,000
OZ& &3el =2 &l 50,000
O okxg| B2 FHH] 30,000
O P==2| =2 HHl 50,000
Ot Xitel A0S s2EF(FUFH ML
) 30,000
Oss =S =2 FHl 30,000
Os= Heth =2 ZH| 30,000
Oss &3, )2 =2 FH| 30,000
OEs otadti==2 FHI(F2UFHOH A 50,000
O ¥83¢2 =22 30,000
Ot ¥5cl s=2 =2 FH 30,000
OB g1l == JH| 30,000
ORYg stdM o=& FHl 65,000
Oz ARel xe 2. =2 FHl 30,000
O Zodel A 222 FH| 20,000
O 42cl 2M =2 &l 40,000
OZ M Ot3el =2 FHl 30,000
OzZAM &30t & MEXN =& 20,000
O=d Zd IUE =2 ZH (UL 50,000
Ozdg Bretll s2u &1 20,000
Ogda &H3el g4 82 Fil 40,000
Oge FUE s2 & 15,000
Ogea ddzel L8 =22 2 2 Fl(
QI E O ol &) 25,000
Ogd 88 MFX FH 200,000
OZ4 33 =2 FHl 100,000
Oogd i =2 ZH| 30,000
O4d &ldlel =2 FHl 30,000
03 A2 S THHI 7,222 8,900
OLAR2IIBtE2EALE  2,006,000,000& +0. 36% 7,222
=clH 298 X 40,000 40,000
QI2tol 40,000 40,000
QIZtH AL E X 40,000 40,000
O=clH 2N (Y, =& AII22) 40,000




2N
P SHEXNY oY

el

X ZH
S =

AE T Al D

SIIEHEHIALY

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=S MA X2t 10,000 10,000 0
401 AlEHIZL 201 Y| 10,000 10,000 0
01 A& H| 10,000 10,000 0
O=ZSMA S22 ALY 10,000
=22 X7 sEH OB 92,988 201,694 A 108,706
101 Q124 H] 12,588 12,338 250
04 JI2ZtHIZ22NEE S 12,588 12,338 250
OHIoIZ28 22 & HA 66,800 8% 23 12,292
Ol - MHEE = 12,292,000 *2 .4% 296
201 Bt 29,400 29,400 0
01 AP 22| H| 2,400 2,400 0
Oztztal 2288 U (FHEA, FAZ2E S) 2,400
02 232%H4| 27,000 27,000 0
OdIIe=2 & MIIEEAH 2 27,000
206 M EHl 6,000 6,000 0
01 =4l 6,000 6,000 0
O & AAZ, HE 7Y 6,000
401 AlEHIZL 2 0HY| 45,000 153,956 A 108,956
01 Al&H| 45,000 153,956 A 108,956
OANEESE RIAIBE (M2 MIIEH S) 20,000
OSLHNSsd A0 LY AH 25,000
Z2AAE WEX=(E=s HAAXR) 100,000 0 100,000
g 80,000
= 20,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
Fag 80,000
= 20,000
01 Al&H| 100,000 0 100,000
OE=s HAXF 2AME HES 100,000
Fag 80,000
= 20,000
SHEMESStHE ™| 1,509,034 5,109,417 A 3,600,383
HEY ARDAY 1,509,034 5,109,417 A 3,600,383
201 LBt | 13,670 3,500 10,170
01 AP 22| d| 13,670 3,500 10,170
OJIEMY SII0d =2 3,500
OY ARZAIE S22837 &d s
550,000& =15 8,250
O ARDAIY =& g AYH|
8,000%2H x120& 1,920
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D AE Al
D S0EXNY Y

P sHEMNEEIE A

M- E2- g9 (3) - HSAY - BaS 0l &t o il HDE2

Ooz=d tgiel RLE 4 20,000
OZah &A2e &= s ZH 20,000
OZ4k Or&1el Bi= WA El 30,000
Ogd 2312 &2 =2 &l 10,000
OZ4 2422 == FHHI 10,000
Ogat 2432 DIsti=2 U (FUE M) 15,000
Ogat Ald1e] TANYZ SFH(FUEHUA) 25,000
Oga S22l s =2 FHI 10,000
ogd 3¢ 38 £X 25,000
Ogd ol A oA YLD 45,000
Odgd UE32 S8 otA2 TAX T 15,000
OHd &0 Ot ¢ZEZd 2 =2 FHl 45,000

03 Al S HHI 5,364 11,888 NB,524

OMNLARIALY XAl =&

1,490,000, 000& *0.36% 5,364

a4 £ NS 10,038,000 ,637,390 3,400,610
s 6,685,000
i 3,353,000

ESHA L3 (xS BT F) 1,420,000 ,500,000 A 80,000
= 947,000
s 473,000

403 A X EHS =0l A 1,420,000 ,500,000 A 80,000
= 947,000
ia 473,000

02 SIS0 U= AE AL 1,420,000 ,500,000 80,000
Of+=E sESHA 243 1,420,000
= 947,000
= 473,000

ESHA 243 (EsS LBXF) 2,100,000 ,951,000 149,000
= 1,470,000
[ia 630,000

403 A X EHS =0l A 2,100,000 ,951,000 149,000
= 1,470,000
[ia 630,000

02 BII2SHUES =R AE AL 2,100,000 ,951,000 149,000
Ossg sE38X 243 2,100,000
= 1,470,000
A 630,000

sSESAN 4sH(U0HE LX) 2,163,000 534,000 1,629,000
= 1,514,000
T 649,000

403 AXSHHS =0l A 2,163,000 534,000 1,629,000
= 1,514,000
a 649,000

©
|




2N
X ZH -
L= B

el

A

=
=]

AT Al
HEXS R

A7) B2 YOS

aC =z

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 SO 2SOICHsH A2 X 2 A I 2,163,000 534,000 1,629,000
OUNtH sE38X &43t 2,163,000
s 1,514,000
[ia 649,000
SEZAA 2HsH(2YH LeHXR) 1,362,000 2,306,000 A 944,000
ras 954,000
[ia 408,000
403 MHXISHE X201 & 1,362,000 2,306,000 A 944,000
as 954,000
e 408,000
02 SO 2SO0 HEAEE 2 E AL H 1,362,000 2,306,000 A 944,000
O=2dd sZ=3a 43t 1,362,000
s 954,000
s 408,000
AN SE2et 150,000 91,000 59,000
s 105,000
s 45,000
403 MM S X201 & 150,000 91,000 59,000
s 105,000
i 45,000
02 SO 2SOIlCHSH A2 X 2 &AM I 150,000 91,000 59,000
OZ&Z A2AsAY 150,000
s 105,000
i 45,000
dEE AEES RA22 E B+ 20,000 90,000 A70,000
401 Al& HI & 28I 20,000 90,000 270,000
01 A& I 20,000 90,000 A70,000
O ANEE RX 2 E= 20,000
AR(EA)0E =4 300,000 165,390 134,610
s 210,000
[ia 90,000
401 Al BIZ 201 8] 300,000 165,390 134,610
ras 210,000
s 90,000
01 A& HI 299,000 164,207 134,793
OZFF2AX 7 AA0tS ZHAS 299,000
= 209,300
s 89,700
03 Al 2 0HHI 1,000 1,183 A 183
OZ&ZARF AAR0IE ZEAY 1,000
s 700
s 300
H=0ls LM 100,000 0 100,000
401 Al Bl 28I 100,000 0 100,000
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PN AL AID

g sOHEXY HE

Sl &) E2 NS CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 99,300 0 99,300
ORY SSd=0S 22 & JIBAIE A 49,650
Ozdg BX=0/d=02 32 & JIBAIEAY 49,650
03 AlE 2 THHI 700 0 700
Od=0t2 Jlgtx4d 700
I=MENESHAML(EZH) 554,000 0 554,000
s 388,000
e 166,000
401 Al HIZ 201 8] 554,000 0 554,000
as 388,000
e 166,000
01 A& HI 550,509 0 550,509
O248 J=deNEsd 550,509
s 385,557
s 164,952
03 Al 2 THHI 3,491 0 3,491
OsZY¥ JzMaNE=sH 3,491
s 2,443
[ia 1,048
SEYSSUUFTHZLANS(Z2RY) 514,000 0 514,000
as 150,000
e 364,000
401 Al HIZ 2018 514,000 0 514,000
s 150,000
i 364,000
01 A& HI 514,000 0 514,000
FEANT SELSSLYUFHZLEAME 214,000
s 150,000
[ia 64,000
ORENF =33 UF=EHZEMY EXH
2l 300,000
AGHXIOLS S JI (BN YY) 247,000 0 247,000
s 171,000
[ia 76,000
401 AIEHI L 20 247,000 0 247,000
s 171,000
[ia 76,000
01 A& Bl 246,000 0 246,000
OA4tSLXICHS 2SI ALY 246,000
s 170,300
e 75,700
03 Al 2 THHI 1,000 0 1,000
O4tGLXIOHS 2HE I ALY 1,000
s 700
s 300




PN AL AID

g sOHEXY HE

Sl &) E2 NS CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

SENSUEI(RSBHY) 130,000 0 130,000
s 91,000
s 39,000

401 Al Bl 28I 130,000 0 130,000
s 91,000
s 39,000

01 A& Bl 130,000 0 130,000
OZELISSIIAY 130,000
s 91,000
= 39,000

AU EI(XEHY) 151,000 0 151,000
as 106,000
e 45,000

401 Al Bl 28I 151,000 0 151,000
as 106,000
i 45,000

01 A& HI 151,000 0 151,000
OIS 2HSIIALE 151,000
= 106,000
s 45,000

MEOIS2HEI (R8I 240,000 0 240,000
s 168,000
[ia 72,000

401 AIEBIZ 201 8] 240,000 0 240,000
s 168,000
s 72,000

01 A& Bl 239,000 0 239,000
OUMEDISeSIIALY 239,000
s 167,300
e 71,700

03 Al 2 THHI 1,000 0 1,000
O&EDS2HSIIALE 1,000
s 700
s 300

SIS EI (R8I 210,000 0 210,000
s 147,000
s 63,000

401 AlEHI R 2 OhYI 210,000 0 210,000
s 147,000
[ia 63,000

01 A& HI 210,000 0 210,000
OB 0S2USIIAE 210,000
s 147,000
s 63,000

S OIS CED (R 181,000 0 181,000
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PN AL AID

g sOHEXY HE

gelr &0 E2 UGS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
e 127,000
s 54,000
401 Al HIZ 201 I 181,000 0 181,000
s 127,000
s 54,000
01 A& HI 181,000 0 181,000
Ost&80I2EIIAY 181,000
s 127,000
s 54,000
SAOS 2SI (R8HE) 196,000 0 196,000
s 137,000
= 59,000
401 AIEHI L 2] 196,000 0 196,000
s 137,000
[ 59,000
01 A& HI 195,000 0 195,000
OELOIS S IIALY 195,000
s 136,000
s 59,000
03 A& 2 THHI 1,000 0 1,000
O OIS SIIAY 1,000
s 1,000
HH 2L ZH (AL AID) 223,833 222,867 966
ol 2| 136,054 132,399 3,655
ol i 136,054 132,399 3,655
101 @124 dl 136,054 132,399 3,655
01 2= 129,812 126,284 3,528
OAN2LR2ZR+Y HHZ(26Y) 31,709
— 6= 11,4013 x7H «10Al 2t+ 128 9,577
—-7=2 10,2993 x 10 «10Al 2t x12& 12,359
— 8= 9,246 «7H +10Al 2tx 1228 7,767
— 9= 8,357 «2H «10Al 2t+123 2,006
O=lz22a4 9,826 26 *x32A1 2t+12& 98,103
02 JIEt A2+ 4,442 4,315 127
OFJAZ (154 0/12H) 4,442
—ANAARRLY(FUER)
8,812 «1H«10Al 2t+123 1,058
—ZUZRFE 8,812& 12 «32A1 2t+12& 3,384
03 RIHAZZHE+ 1,800 1,800 0
SIOHAZZ A SRFA Y| 1,800
—HOotEs&2e & 150,000& 1H 122 1,800
Jl23&dl 87,779 90,468 A 2,689
JlE2zl 87,779 90,468 A 2,689

_23_




02y

S

=E=p\in"
H2dAH (AL TAIDL)
=23

SN HH-S(BN) - MBAY - B il HlnE2
201 Le-2d| 52,249 43,068 9,181
01 At 22l 49,093 39,944 9,149

Ot SHAA 23,023
O=&tl SHAH & 26,070
02 3323l 3,156 3,124 32
OMRA HY AZHI(ER)
8703 *24 *4Al2t%100€ 696
Ooxgesgz (1) 360
OXtgs X 2eld (1) 2,100
202 04l 30,370 32,240 21,870
01 = LHA YI 26,770 28,640 21,870
O3UoigI (=) 17,410
O=Uoitl(22l) 9,360
02 A Y| 3,600 3,600 0
ONzs Bt 150,000 x2H x12& 3,600
203 PR =&l 5,160 5,160 0
04 EAN2I LRI 5,160 5,160 0
ORNM2Y =2
(400,000% « 128 )+(5,000& «6H x 128 ) 5,160
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